Unit 1 Test Review
STEM Chemistry

1. Complete the table below.
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Symbol . Mass # b #
Notation Alomies: Number | Neutrons | Protons | Electrons Cltnge
132 ¥ +6 1
54 [ 122 8 54 [ 4€ |t
2 P! 14 198 119 79 % +1
H 1 i 0 l + |
‘YAs | 33 1Og 75 33 36 =3
Tz 97 247 Iso 91 47 0
ST © T (oiu 44 3 [9 +2
2. Calculate the average atomic mass for element X,
Isotope Relative Abundance Mass
67X 235 % 66.9887
68X 70.2 67.9964
69X ov-235-10.L = (5.5’ | 68.9089

AM= BNk 3N + @102 (199164 + (.03 Y T A0FT) <

3. Put the following numbers in proper scientific notation:

. 7. | o
a. 402.0__“4-0LOX\©O b. 103422 x 10 ) - O34 Axlo =
c. 1020040, _1.OLO04 XI0° d 322 _ 3. 2Txio°

4. Round the following numbers to 3 significant digits:

-3 (o
a. 0.0040566 4'0@(' O b. 9003400 9-00X(O
c. 13.9987 .40 X|of d. 38.0020 __ 3-80x O

5. Indicate ho
a. 780900
¢. 5.6600 x 10-3 5.

many significant digits each number has:
b. 0.0049020
d. 80200000 %,

6. A car is travelling 62 miles per hour. How many ft per second is this? M) ___,>S;.‘ ) We-25
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